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Figure S1. Regression lines for the correlation between loading stage effective stress (¢';s) and load-
ing stage r value ry,. 6 soils tested. (a) w. =0%; (b) w. =0% (L); (c) w. =3%; (d) w, =6%; (e) w, =
9%; (f) we. =12%
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Figure S2. Regression lines for the correlation between loading stage effective stress (6';s) and load-
ing stage frequency Fjs. 6 soils tested. (a) w. = 0%; (b) w, =0% (L); (¢) o, =3%; (d) w. =6%; (e)

we =9%; (f) wc =12%
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Figure S3. Regression lines for the correlation between loading stage effective stress (6';s) and load-
ing stage amplitude Aj. 6 soils tested. (a) w, = 0%; (b) w; =0% (L); (¢) we =3%; (d) w, =6%; (e)

we =9%; (f) we =12%
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Figure S4. Regression lines for the correlation between loading stage density pq)s and loading stage
frequency Fs. 6 soils tested. (a) w. =0%; (b) w. =0% (L); (¢) we =3%; (d) we =6%; () w. =9%;
(f) wc =12%
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Figure S5. Regression lines for the correlation between loading stage density pq)s and loading stage
r value rys. 6 soils tested. (a) w. =0%; (b) w. =0% (L); (c) w. =3%; (d) we =6%; () we. =9%; (f)
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Figure S6. Regression lines for the correlation between loading stage density pq)s and loading stage
amplitude Aj. 6 soils tested. (a) w. =0%; (b) we =0% (L); (¢) we =3%; (d) w. =6%; (e) w. =9%;
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Figure S7. Regression lines for the correlation between loading stage void ratio e;s and loading
stage amplitude Aj. 6 soils tested. (a) w. = 0%; (b) w. =0% (L); (c) w¢ =3%; (d) o =6%; (e) w
=9%; (f) we =12%
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Figure S8. Regression lines for the correlation between loading stage void ratio e;s and loading
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Figure S9. Regression lines for the correlation between loading stage void ratio es and loading
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Figure S11. Regression lines for the correlation between loading stage compression index c.s and
loading stage frequency Fis. 6 soils tested. (a) w. =0%; (b) we =0% (L); (c) w =3%; (d) we =6%;
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Figure S12. Regression lines for the correlation between loading stage compression index c.s and
loading stage amplitude Ajs. 6 soils tested. (a) w, =0%; (b) we =0% (L); (¢) wc =3%; (d) w. =6%;

() we =9%; (f) we =12%
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Figure S13. Regression lines for the correlation between loading stage strain g5 and loading stage
amplitude Aj. 6 soils tested. (a) w. =0%; (b) we =0% (L); (c) we =3%; (d) w. =6%; (e) w =9%;
6 o =12%
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Figure S14. Regression lines for the correlation between loading stage strain g5 and loading stage
frequency Fs. 6 soils tested. (a) w, = 0%; (b) we = 0% (L); (c) w. =3%; (d) w. =6%; (e) w, =9%;
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Figure S15. Regression lines for the correlation between loading stage strain g and loading stage
r value rj5. 6 soils tested. (a) we =0%; (b) w, =0% (L); (c) we =3%; (d) we =6%; (e) we =9%; (f)
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Figure S16. Regression lines for the correlation between loading stage coefficient of compressibility
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Figure S17. Regression lines for the correlation between loading stage coefficient of compressibility
ay)s and loading stage b value bys. 6 soils tested. (a) w, =0%; (b) w. =0% (L); (c) w, =3%; (d) w,
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Figure S18. Regression lines for the correlation between loading stage coefficient of compressibility
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Figure S19. Regression lines for the best correlations between moisture content w, and monitored
acoustic variables (any value of moisture content). (a) CNTSs; (b) Dy, (c) Ajs.
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Figure S20. Regression lines for the best correlations between initial dry density pqo and monitored
acoustic variables (any value of moisture content). (a) Ays. ; (b) NHity.
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Figure S21. Regression lines for the best correlations between initial void ratio e, and monitored
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Figure S22. Regression lines for the best correlations between loading stage effective stress ¢'js and
monitored acoustic variables (any value of moisture content). (a) RTjs; (b) Fig, (c) Dys.
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Figure 525. Regression lines for the best correlations between loading stage compression index c s
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Figure 526. Regression lines for the best correlations between loading stage strain g and moni-
tored acoustic variables (any value of moisture content). (a) rjs; (b) Fys, (c) Djs.
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